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L. Vocabulary: 20%
Choose the most appropriate word according to the given context, and then write its corresponding letter
on your answer sheet.
1. US market confidence cratered late last year due to fears. The S&P 500 suffered its worst

December since the Great Depression.
(A) recreation  (B) recession (C) resistance (D) resonance
2. Studies have suggested rainfall may get less in Honduras, so _____ could spread in Guatemala, and this
has damaged the coffee crops in the past.
(A) drawer (B) drought (C)dropsy (D) draught
3. The strike is the first of its kind since 1991, when a similar protest saw some 500,000 women

demonstrate against continued inequality across all sectors of life.
(A) gender (B) general (C) genius (D) genesis
4. Climate change is having a serious impact on economic across the world.

(A)growth (B) grow (C) greeting (D) gratitude
5. Years of drug use cost him his wife, hismoneyandhis

(A) self-adhesive  (B) self-doubt  (C) self-deluding (D) self-confidence
6. The United States ___ $346 billion of goods from Mexico last year, including everything
~ from auto parts and avocados to beer and televisions.

(A) export (B)disport (C)disported (D) imported

7. The US Federal Reserve is set to reinforce the view that it is not raising interest ___ for a while as

' policymakers gather this week.

(A)ration (B)ratio (C)rates (D)rating

8. In China, Starbucks is opening a store every 15 hours as it tries to stay ahead of cheaper

" (A)compile (B)complain (C)competitors (D) complete

9. Self-driving cars have been on the radar for a while, but with a 5G network they could become
(A)realia (B)realm (C)reality (D)realty

10. Buropeisreadyto __talks with the United States about a transatlantic trade deal.

(A)resume (B)react (C)reelect (D) reentist
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II. Grammar. 20%
In questions 1-10, each sentence has four underlined words or phrases marked (A), (B),(C), and (D). You are to
identify the one that should be corrected and then write its corresponding letter on your answer sheet.
For example: Many water is needed for people living in dry area.
A B C D
The best answer is (A)

1. Southeast Asian leaders have pressing their call for self-restraint in the disputed South China Sea after a new
A B C
incident and renewed their alarm over the U.S.-China trade war with one warning it may spiral out of control,
D

2. On this island at West Tromsg, north of the Arctic Circle, the sun doesn't set from May 18 right through to
A B C D
Tuly 26, a full 69 days. ' '

3. President Donald Trump campaigned partly on a pledge to bring back the U.S. coal industry, that have
A B T C
‘been hit hard by competition from cheaper natural gas and renewable energy.
D

4, With bright blue eves, fair skin and_bushy brown hair, Peter Petrov doesn't like a typical Chinese man.
A B C D

5. Gérman Chancellor Angela Merkel clasped het hands in front of her as the German anthem began to play
A B C
and seemed unable to controlling her body from shaking.

D
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6. It was the starting point of a collection that went back to the past of Christian Dior, what revolutionized the
A B C
global fashion industry after World War IT with his sculpted, couture styles.
D

7. Tourism still secures the most jobs in Spain, a country traditional suffering from high structural
A B C D
unemployment.

8. Missouri’s health department has declined renew a license to perform abortions for the state’s lone clinic.
A B C D

9. Last month, the American Red Cross issued a “critical need” for Type O blood donations_in US clinics,
A B C
the more common blood type in the world.

D

10. Energy costs are also_crucial for the tourism sector, being one of the largest energy consumer.
A B C D

L Cloze Test: 30%
In the following passages, there are fifteen blanks where words or phrases are left out. For each blank, there are

four choices marked (A), (B), (C), and (D). One of the choices best fits the blanks, Choose the best answer and
write its corresponding letter on the answer sheet.
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A

Professors 1 _early morning classes often encounter the problem of students coming late to class.
__ 2, there may be only two or three students in the class on time. This makes it difficult for professors
3 theirclasses. Theywantto _ 4 the students being there ontime, 5 they know if they do, the
latecomers will miss the beginning of the lesson, and the professor will have to catch them up later. For the
sake of the on-time students and the professor, there need to be consequences forthe students_ 6 . 7~
a late policy in which aftendance is made part of the final class grade and late students 8 for every three
times they are late should be implemented.

1. (A) whichhave (B)whohave (C)whichhas (D)who having

2. (A) Some times  (B) Sometimes (C) Some time (D) Sometime

3.(A)begin (B)beginning (C) to begin (D) begun

4. (A) starting for (B) startedto (C) start for (D) starting in

5. (A)ywhen B)if (C)why (D)but

6. (A) regular arriving lately (B} regular late arriving  (C) arrive regular lately (D) regularly arriving late .
7.(A) Therefore  (B) Inadditionto  (C) However (D) Accordingly

8. (A) are marked absent (B) were marked absently  (C) absent marked (D) was absent-marked

B.

Where I live, we can have cold temperatures in the winter and gray skies 9 . It doesn’t typically
10, though, and it’s usually sunmy. That’s why Iwas 11 one week last February. We had a cold
spell like no other. At one point, the temperature 12 to -20°C. __13__ many layers of clothing I wore, I

couldn’t get warm. It was ___14___ we had to turn off the water because otherwise the pipes 15

9. (A) with litfle snows  (B) with some snow  (C) with any snows (D) with few snows
10. (A) gottoocold  (B) gettoo colder (C) get too cold (D) getting too coldest
11. (A) such surprised  (B) so surprising (C) such a surprising (D) so surprised
12. (A)dropat (B) dropsto (C)dropping (D) dropped down
13. (A) Nomatter (B) Matter why (C) No matterhow (D) No matter why
14. (A) such frigidly that (B) that frigid (C) so frigid that (D) such frigidly
15. (A) would had freeze and burst.  (B) would freeze and burst,

(C) would had froze and bursted. (D) would had freeze and bursted.
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IV. Composition: 30%

Please write a three-paragraph English composition on the topic: “Language is Power” in 250 words or
so. Your composition must contain an introductory paragraph, one or two body paragraphs, and a
concluding paragraph. Use specific reasons and examples to support your opinions.




